
3. a) the object is not moving
    b) the object has a constant speed
    c) the object is accelerating
    d) the object has a constant speed, the acceleration is zero
    e) the object has a constant accleration, the objects speed is increasing
    









1.

2. 

3.



4.

5.

5.



0 1 2 3 4 5
time (s)

a. 

50

25

75

Sp
ee
d 
(m
/s
)

6 a = v2 ­ v1
      t1  ­ t2
a = 125 m/s ­ 0m/s
       5 s ­ 0 s 
a = 125m/s
         5s
a = 25 m/s2

b)

c) the accleration is zero

D = 1 v t
       2
D = 1 (75) (3)
       2
D = 1 (625)
       2
D = 112.5 m

d) D = vt
D= (75)(2)
D = 150m

D­total = 112.5 + 150 
Dtotal = 262.5m
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